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�5F>4<>4 < ?>E?54>64F5?L=>EFL ?D>5>F<D>64=<O F5E=>?>7<G5E><E ?D>F5EE>6 
6>EEF4=>6?5=<O 45F4?5=. %E5<4 F5E=>?>7<G5E>>7> ?D>F5EE4 E5>D><.   
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�� 01,�� 02, �� 
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� F>< G<E?5 ?D4>F<G5E><E 74=OF<= 
1.$47D45>F>4 F5E=>?>7<G5E>>7> ?D>F5EE4 E5>D>< 47D574F4 

2 

&5<4 3.10 $5<>=F G7?>6 < 
?D<5>D>6 E<EF5< E<47><, 

%>45D64=<5 GG55=>7> <4F5D<4?4   6/4  

1.�E=>6=O5 45D5>FO G7?>6 < ?D<5>D>6 E<EF5< E<47>< < >E?4645=<O < E<EF5<O 2  



>E?4645=<O, ?<F4=<O ?<F4=<O 
� F>< G<E?5 ?D4>F<G5E><E 74=OF<= 
1.�D46<?4 D5<>=F4 G7?>6 < 45F4?5= E<EF5<O >E?4645=<O. 
2.�D46<?4 D5<>=F4 G7?>6 < 45F4?5= E<EF5<O  E<47><, E<EF5<O ?<F4=<O 

4 

&5<4 3.11. $5<>=F 
?D<5>D>6 
M?5>FD>>5>DG4>64=<O 

%>45D64=<5 GG55=>7> <4F5D<4?4   4/2  
1.�5D5>FO ?D<5>D>6 M?5>FD>>5>DG4>64=<O. �E>55==>EF< F5E=>?>7<G5E><E 
?D>F5EE>6 D5<>=F4 45F4?5=, ?D<5>D>6 M?5>FD>>5>DG4>64=<O. &5E=<G5E><5 
GE?>6<O =4 D5<>=F, E5>D>G < <E?OF4=<5 ?D<5>D>6. 

2 

�� 1.1;  
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04,�� 09 � F>< G<E?5 ?D4>F<G5E><E 74=OF<= 

1.�D46<?4 D5<>=F4 G7?>6 < 45F4?5= E<EF5<O M?5>FD>>5>DG4>64=<O 
2 

&5<4 3.12. $5<>=F 
>G7>6>6 < >45<=, 
46F><>5<?L=OE L<= 

%>45D64=<5 GG55=>7> <4F5D<4?4   4/2  
1.�5D5>FO 45F4?5= < G7?>6 >G7>6>6, >45<=, >?5D5=LO. &<?>6O5 F5E=>?>7<G5E><5 
?D>F5EEO <E 6>EEF4=>6?5=<O. �>=FD>?L >4G5EF64 >FD5<>=F<D>64==OE >G7>6>6 < 
>45<=. 
�<4O D5<>=F4 L<=. &5E=<G5E><5 GE?>6<O =4 ?D<5<>G L<= 6 D5<>=F, 45D5>FO 
?>>DOL5>.. 
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< =4?>65=<5<  =>6>7> ?D>F5>F>D4 
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&5<4 3.13. &5E=<G5E>>5 
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�E>55==>EF< =>D<<D>64=<O DGG=>7> FDG44. 
�D74=<74F<O >ED4=O FDG44 =4 D5<>=F=OE ?D54?D<OF<OE ?D< ?D>6545=<< D45>F 
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<=EFDG>F465= < ?>DO4>> <E ?D>6545=<O. 
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3. '%����/ $������&�� ''����� ��%&�����/ 

3.1 &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G >55E?5G5=<N. 
�45<=5F GEFD>=EF64, F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 46F><>5<?5= 7128. 
�>E44>G=O5 <5EF4 ?> >>?<G5EF6G >5GG4NM<EEO, >?4EE=4O 4>E>4, D45>G55 <5EF> 
?D5?>4464F5?O. �><?LNF5D 6 E5>D5 GeleronE 1500.1024 Mb 160 Gb/DVD-RV|, 
?D>5>F>D ACER %12�� DLP, >><??5>F ??4>4F>6, >><??5>FO  E?D46>G=OE 
=>D<4F<6=OE 4>>G<5=F>6, =>D<4F<6=OE 4>F>6, D4744F>G=O= <4F5D<4? > 
6O?>?=5=<N ?D4>F<G5E><E D45>F. E<EF5<4 �4D4=F (4>7>6>D -�%-17-010 >F 09 
O=64DO 2017 7>44, 4>7>6>D -�%-18-034 >F 30 O=64DO 2018 7>44, 4>7>6>D -�%-19-
078 >F 09 O=64DO 2019 7>44, 4>7>6>D 72 >F 09.01.2020 7>44), >><??5>F GG55=>-
=47?O4=OE ?>E>5<=.  Win7Pro 64 SP1 (OEM ?<F5=7<O, 4>7>6>D ?>65DF6>64=<O 
7140501 >F 20 O=64DO 2014). Microsoft Office 2016 (%>7?4L5=<5 Microsoft 
Products and Services Agreement 74100088059 >F 09.08.2019 7.)  

$54?<74F<O ?D>7D4<<O 4<EF<??<=O ?D54?>?4745F =4?<G<5 GG55=OE 
>45<=5F>6: GEFD>=EF64 46F><>5<?5=, F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 
46F><>5<?5=; �5>DG4>64=<5 GG55=>7> >45<=5F4 < D45>G<E <5EF: >45<=5F4 
GEFD>=EF64 46F><>5<?5= - >><??5>F 45F4?5=, G7?>6, <5E4=<7<>6, <>45?5=, 
<4>5F>6; >45<=5F4 F5E=<G5E>>7> >5E?G6<64=<O  < D5<>=F4 46F><>5<?5= - 
>><??5>F 45F4?5= , G7?>6, <5E4=<7<>6, <>45?5=, <4>5F>6, >><??5>F 
<=EFDG<5=F>6 < ?D<E?>E>5?5=<=, >><??5>F GG55=>-<5F>4<G5E>>= 
4>>G<5=F4F<<, =47?O4=O5 ?>E>5<O; EF5=4O < ?D<5>DO. 

&5E=<G5E><5 ED54EF64 >5GG5=<O: >><?LNF5DO, <G?LF<<54<==>5 
>5>DG4>64=<5, ?D>7D4<<=>5 >55E?5G5=<5 >5M57> < ?D>D5EE<>=4?L=>7> 
=47=4G5=<O, >><??5>F GG55=>-<5F>4<G5E>>= 4>>G<5=F4F<<. 
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(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-08819-9. 4 &5>EF 
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URL: https://urait.ru/bcode/471590 (44F4 >5D4M5=<O: 15.05.2021). 
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?D>D5EE<>=4?L=>7> >5D47>64=<O / �. .. $4G>>6. 4 2-5 <74., <E?D. < 
4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 135 E. 4 
(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09148-9. 4 &5>EF 
: M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/472641 (44F4 >5D4M5=<O: 08.06.2021). 
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.D4=F, 2021. 4 265 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 
ISBN 978-5-534-06883-2. 4 &5>EF : M?5>FD>==O= // -�% .D4=F [E4=F]. 
4 URL: https://urait.ru/bcode/473035 (44F4 >5D4M5=<O: 08.06.2021). 
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7 ?/? �EF>G=<> 
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ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. %<?456. 4 3-5 <74., 
<E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 404 E. 4 
(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09967-6. 4 &5>EF 
: M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/475261 (44F4 >5D4M5=<O: 08.06.2021). 
 

5 �>D56, �. -.  �=D>D<4F<>==O5 F5E=>?>7<< 6 ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< (46F><>5<?L=O= FD4=E?>DF) : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. -. �>D56. 4 2-5 <74., ?5D5D45. < 
4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 289 E. 4 
(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-11019-7. 4 &5>EF 
: M?5>FD>==O= // -�% .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/471489 (44F4 >5D4M5=<O: 08.06.2021). 

6).�5D<>4<G5E><5 <744=<O (>F5G5EF65==O5 6GD=4?O): 
7 ?/? �EF>G=<> 

6 ��&������,. ��$���. ��$$�%&$'�&'$�: =4GG=O= 6GD=4? . 3 
�>E>64 :  �>E>>6E><= 46F><>5<?L=>-4>D>6=O= 7>EG44DEF65==O= 
F5E=<G5E><= G=<65DE<F5F (����) ,  2014. 3 .3 �OE>4<F 4 D474 6 7>4. 3 
ISBN  M?5>FD>==>= 65DE<<: 2409-7217. 3 &5>EF : M?5>FD>==O=  // -�% 
elibrary [E4=F]. 4 URL : https://elibrary.ru (44F4 >5D4M5=<O : 15.05.2021). 

7 ��$ &$��%��$&� : =4GG=O= 6GD=4? . 3 �>E>64 :  D545D4?L=>5 
7>EG44DEF65==>5 46F>=><=>5 >5D47>64F5?L=>5 GGD5645=<5 6OEL57> 
>5D47>64=<O "$>EE<=E><= G=<65DE<F5F FD4=E?>DF4" , 2003. 3.3  
�OE>4<F 6 D47 6 7>4. 3 ISBN  ?5G4F=>= 65DE<< 1992 3 3252. 3 &5>EF : 
M?5>FD>==O=  // -�% elibrary [E4=F]. 4 URL : https://elibrary.ru (44F4 
>5D4M5=<O : 15.05.2021). 

7) <=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO: 
7 ?/? �EF>G=<> 

8 -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> ��'» 
mgri-rggru.bibliotech.ru  

9 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. 
�=65=5D=>-F5E=<G5E><5 =4G>< (&N<�')  
e.lanbook.com  

10 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary» / �D46>>5?444F5?L : 
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